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Abstract

The rotation of a symmetrical rigid body around its center of mass is considered. A motor moment and a friction
moment act on the body. The friction moment vector is supposed to be proportional the kinetic moment of the body.
Two types of the motor moment are considered. The first one is the constant moment. The second one is the following
moment directed along the axis of symmetry of the body. Exact analytical solutions of the problems are constructed
in the form of the exponential series. Method of solution of the problems is based on using of the representation of
turn-tensor by the kinetic moment vector and the representation of turn-tensor by the left and the right angular velocity
vectors.

1 Turn-tensor and angular velocity vectors.

This section contains known facts which will be used to solve considered problems. Information about the turn-tensor in more detail
can be found in [1], [2].
Definition. A properly orthogonal tensor which is a solution of the equations

p.-P"=pP".P=E, det P = +1 (1)

is called a turn-tensor.
Definition. The tensors S(t) and §T(t) , calculated by the formulae

S(t)=E(t)-£"(t), 5 (t)=PB"(1)- P(t), (2)

are called respectively the left spin tensor and the right spin tensor.
Definition. The accompanying vector of the left spin tensor w(t), defining by the formula

S(t) =w(t) x E, ®3)

is called the left angular velocity vector.
Definition. The accompanying vector of the right spin tensor Q(t), defining by the formula
S (1) =Q(1) xE, (4)

is called the right angular velocity vector.
The left Darboux problem. Let the left angular velocity vector w(t) be known and the turn-tensor should be found. This problem
is formulated as follows
b(t) = w(t) x P(1),
The right Darboux problem. Let the right angular velocity vector Q(t) be known and the turn-tensor should be found. This
problem is formulated as follows

P(to) =P, . (5)

Pt)=P(t)xQt), PO)=P,. (6)
Theorem: Every turn-tensor can be represented as the composition of any number of the turn-tensors:
P)=P ()-P (). P(t)-P,(t) P (t). (7)

Theorem: If the turn-tensor P(t) is represented as the composition of two turn-tensors P (¢) and P (), then the angular
velocity vector w(t), corresponding to the turn-tensor P(t), is expressed in terms of the angular velocity vectors w, (t) and wy(t),
corresponding to the turn-tensors P (t) and P (), as follows:

PO =P,1)-P() =  wlt)=w,()+P,1)-w ). (8)

Euler theorem: Every turn-tensor P(t) # E can be represented by uniquely in the form

P(0m) = (1 — cos 0(8)) m(t)m(t) + cos 0(t) E + sin0(t) m(t) x £, |m(t)] =1. )
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Using Euler representation of the turn-tensor, it is easy to derive expressions for the angular velocities
w(t) = O(t) m(t) + sin (t) 1in(t) + (1 — cos 6(8)) m(t) x 1 (),

. (10)
Q(t) = 0(t) m(t) + sin 0(t) (t) — (1 — cos O(t)) m(t) x 1m(t) .

2 Representation of turn-tensor of symmetrical rigid body by the kinetic
moment vector.

Theorem: Let the inertia tensor of a rigid body in the reference position be

0 =XNee+p(E—ee). (11)
Let the actual position of the rigid body be determined by the turn-tensor ]:3(t) and the rigid body have the angular velocity w(t),
and the kinetic moment vector (the moment of momentum vector) of the rigid body, calculated with respect to some point of the
body, be L(¥):

L(t)=P(t)-9-P"(t) - w(t). (12)
In this case the turn-tensor of the rigid body g(t) can be represented as the composition of two turn-tensors
Pt)=P,(t)- P, (). (13)

The turn-tensor EL (t) is determined by the kinetic moment vector of the rigid body L(¢) as solution of the left Darboux problem
P H)=w,®)xP, (), w,®)=p'LE), P, 0)=P0). (14)

The turn-tensor P, (t) has the form
P, (t) = (1 —cosfB(t)) ee +cos B(t) E +sin f(t) e x I, (15)

where angle ((t) is expressed in terms of the right angular velocity corresponding to turn-tensor EL (t)

B(t) :/(H*A)Yl@-QL(t)dt, Q (1) =P (t) - w,(t), B(0)=0. (16)

Proof of the theorem can be found in [3].

3 Representation of turn-tensor by left and right angular velocity vectors.
Alternative formulations of Darboux problem.

Theorem: Let both angular velocity vectors be known. Then the turn-tensor can be found without additional integration. It is
calculated by formula

I~y
I

AwQ+B(wQ) +CwQ+D(wxw)(2x92),

A=

le)

OD=¢-wD, B=-1(0*)D=-1(w?)D (17)

C=0*D=uw’D, D=1/(2xQ)"=1/(wxa)’

Proof of this theorem can be found in [4]. Theorem (17) allows to formulate Darboux problem as follows.

Left Darboux problem. The left angular velocity vector w(t) is known. The right angular velocity vector (t) should be
found (see [4]).

Formulation I. The right angular velocity vector is determined as solution of Cauchy problem

Q+aW)2+bW)2=cW)2xQ,  Qto) =Pr-wy, Qto) =PI -y,

(@ x ) (&%) b (wx0) "
. wXxw - (@xw - (wxw
a(w) = —(Infw x [, blw) = T exw)? clw) = oo L
Formulation II. The right angular velocity vector is determined as solution of Cauchy problem
Q+ AW 2+ B Q+CW =0,  Qto)=FF-wy,  Qto) =B - &y,
Q(to) = ]:3(7; ’ [C(“_}o) Wy X Wy — a(“_}o)@o - b(‘i}o) ‘«Eo] ) (19)

A(w) = 2a(w) — [Inc()]’; B(w) = a(w) + a(w) (a(w) — Inc(w)]") + bw) + ¢*(w) w?,

C(w) = b(w) + b(w) (a(w) — [nc(w)]) — 3 (w) (W?)".
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Right Darboux problem. The right angular velocity vector Q(¢) is known. The left angular velocity vector w(t) should be
found (see [4]).

Formulation I. The left angular velocity vector is determined as solution of Cauchy problem

@+a@e+bQu=c@uxw, w0)=P

s d)(O):1:30~QO,

. - .. . 20
0@ = (| x ), bQ) = % () = 9@(3 ;)%” +1 -
Formulation II. The left angular velocity vector is determined as solution of Cauchy problem
LHAQE+B@Qe+CQu=0, wlt) =P, Q. @lte) =P, Q.
B(t) = P - [e(Q) R x 2y — a(2) 2y — b(20) 2] + o

4 Rotation of rigid body under the action of constant motor moment.

Let us consider a symmetrical rigid body. The center of mass of the body is fixed. A motor moment M, and a friction moment
M. (t) = —k L(t) act on the body. Equations of the motion of the body have the form

M
L(t)=—kL(t)+M,,  L(t)=P(t) - [Aee + n(E — ee)] - P (1) - w(t),
. (22)
M, = const, P(t) =w(t) x B(t), P0)=E, w(0) = w,
Using the theorem of representation of turn-tensor (11) — (16), the problem (22) can be rewritten in the form
wp(t) = —kw,(t) + M, wr(0) =wrg, wro=[(Ap—1ee +£] "Wo s
P(t)=P, () -P(Be), P, ()=w, ()xP,(t), P (0)=E, o3)
M=M/u, B = (- 1)/@ Q,md,  B0)=0.
It is easy to see, that problem (23) can be reduced to solution of the left Darboux problem:
P )=w,)xP, ), P O0)=E,
(24)

w (t)=ae "' +b, a=w,—M/k, b=M/k.

IS}

Using the theorem of representation of turn-tensor (17) and formulation of the left Darboux problem (18), problem (24) can be
formulated as Cauchy problem in term of the right angular velocity vector Q; (¢):

Q) +kQ(8) = -2, (1) x (1), 2(0)=a+b,  2.(0) = —ka. (25)

Using formulation of the left Darboux problem (19), problem (25) can be rewritten as follows:

Q1) +2kQ, () + (K2 +b0*+2a-be " +a2e ) Q, (t)+
+k(a-be "t +aZe™2RNQ, (1) =0, (26)

Q,(0)=a+b, Q,(0) = —ka, Q,0)=ka—kaxb.



Let us look for solution of differential equation (26) in the form of exponential series. It is easy to show that solution, represented
by the exponential series, takes the form

Q1) =4, CV e ™ 4 (B, cosbt + B,sinbt) Y ReCne ™'+
n=0

n=1

+(—B, sinbt + B, cosbt) Z Im Cp, e "™
n=1
(27)
(2n=3)a-bC +(n-3)a’CY,
n(n —1)2k2? + 1?] ’

0 o a-b 0
e =ci=1, CE):bT’ cP = -

a-b [(2n — 3)k — 2ibla - bCrn1 + [(n — 3)k —ib]a® Cp_s

G =tar—m =" (n =Dk [0 — 1)k — 2] (nk —ib)

Here constant vectors A,, B,, B, are determined by the initial conditions (26). Proof of the fact that the system of exponents is
complete on the class of functions which are solution of differential equation (26) and proof of uniform convergence of series (27)
can be found in [5], where analogous differential equation is solved.

Analysis of solution of the problem. An asymptotic analysis of the solution at the large values of time shows that at all initial
conditions the following properties of the body motion take place:

— 400 ——+o0 —+oo
w0 M, 9,0, e (B o1)e 4. (28)

Hence, at the large values of time the body motion tends to the regular precession, which axis is directed along the motor moment.
In the case w;, = w%om, m = M /M , solution of considered problem takes the form

P(t) =P, (¢m)-P(boe),  d(t) =wo(t),  ©(0)=0,

: p 1 o 1 e (29)
Bo(t) = (X_1> wo()m-e,  B0)=0,  wo(t) =M+ (WLO_EM)e :
Let us investigate stability of motion (29). Let us suppose that w;, = w?om + @, , where |@,,| ~¢. Then
wp(t) = wo(t)m + @Loeik " (30)

where wo(¢) is determined by formula (29). Expression (30) proves that |w; (¢t) — wo(t) m| ~ €. Let us represent turn-tensor P, in
the form =

P (t)=PF, ((tym)-P(t),  P(0) =P, ($(0)m) P (0)=E. (31)

T =Lo =/ = T =rLo =L =

To prove stability of motion of axis of symmetry of the body it is necessary to prove that 123 is the tensor of small turn. According
to formulae (1) — (4), (8)

@L:WOW_‘_]:DLO'@v QLZET'WO"E‘FQ- (32)

It is easy to show that y R
@ -Pj w0 =0" wm-0-2, Q=P-E. (33)
If 1:5 is the tensor of small turn, then @ ~e, Q ~ ¢, Q ~ ¢. As follows from (33), |Q, — PT .w,| ~ Q. Hence, condition @ ~ ¢

=L0

and condition |Q; — I_Dzjo -w; | ~ € are equivalent. Let us consider the difference

uJO(QL - EZO : "LJL). - wO(QL - EZO ‘wp) = ng X @ +W37T -(m x @) +Q ) (":’0512 - WOQ) . (34)
According to (30), (32)
Q=P -wp —wom =Py 20" (35)

Neglecting the terms of * order in equation (34) and using expression (35), we obtain a linear equation in term of (Q, — ]:320 ‘wp):

wo(Qp = Py wy) —@o(Qy — P} wy) =wiP) - (mx @pe)e " (36)

As it was shown above, if solution of equation (36) is £ order, then motion of axis of symmetry of the body is stable. Solution of
equation (36) has the form

t
0~ 0,y =wo [ P, (mx @) e, (37)
0

=L0 =L0

As |@;o| ~ e and |m| =1, according to (37), |Q, — ijo -w; | ~ €. Hence, motion of axis of symmetry of the body is stable.
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5 Rotation of rigid body under the action of following motor moment.

A symmetrical rigid body is considered. The center of mass of the body is fixed. A motor moment M (¢t) = M.n(t), directed along
the axis of symmetry of the body, and a friction moment M, (t) = —k L(t) act on the body. Equations of the motion of the body
have the form

L(t) = =k L(t) + Mun(t),  L(t) = P(t) - [Aee + p(E — ee)] - P (¢) - w(t),
. (38)
M. =const, n(t)=P(t)-e, Pt)=wt)xP(t), PO)=E, w(0)=uw,.
Using the theorem of representation of turn-tensor (11) — (16), the problem (38) can be rewritten in the form
W (t) = —kw,(t) + Mn(t), wr(0) =wrg, wro=[(Ap—1ee+ Q "Wo s
P(t)=P,(t)-P(Be), P, (t)=w,(t)xP, (1), P, (0)=E, (39)
M=M/u, nlt)=P (0)-e, B(t)=(u/>— 1)/@ “Q,(tydt, B(0)=0.
It is easy to see, that the first equation from (39) can be reduced to the form
QL(t):_kQL(t)+M@~ (40)
Hence, problem (39) can be reduced to the solution of the right Darboux problem:
P (t)=P ()xQ,(t), P (0)=E,
(41)

Q,(t)=ae "' +b, a=w,,—Me/k, b= Me/k.

Using the theorem of representation of turn-tensor (17) and formulation of the right Darboux problem (20), the problem (41) can
be formulated as Cauchy problem in term of the left angular velocity vector wy (t):

@) +kw () =w,(t) xw, ), w(0)=a+b, w,(0)=—ka. (42)

Using formulation of the right Darboux problem (21), the problem (42) can be rewritten as follows:
wy (t) + 2k, (8) + (K +0° +2a-be ™" +a”e ™) o, ()+
+k(a-be " +a?e ) Q (1) =0, (43)

0 (0)=ka+kaxb.

E"L(O):a—"_b? QL(O):_kaﬂ

It easy to see, that the differential equation (43) in term of w, is analogous to the differential equation (26) in term of €, , which
was obtained in the case of constant motor moment. Hence, solution of equation (43) can be represent by the exponential series
(27).
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